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2.1 

 

Satz von Pythagoras im Dreick MCS: 
 
MC = AC - AM = 12 cm - 4 cm = 8 cm 
 
CS² = MC² + MS² | -MC² 
 
MS² = CS² - MC² = 10² -8² = 36 |ⱱ 
 
MS = 6 cm 

 

Im Dreieck MCS gilt: 
 
            MS     6 cm  
tan α = ---- = ------ = 0,75 --> α = 36,87° 

            MC     8 cm  
 
2.2 

 
Strahlensatz: 
 
SR = SM - RM = 6 cm - 1,5 cm = 4,4 cm 



FG     SR   
--- = ---- | * BD 
BD    SM  
 
         SR * BD       4,5 cm * 8 cm  
FG = ----------- = ------------------ = 6 cm 

             SM                   6 cm 
 
2.3 

 
            0,5 * AM * BD * MS     0,5 * 4 cm * 8 cm * 6 cm 
VABDS = ----------------------- = ------------------------------- = 32 cm³ 
                          3                                    3 
 
Strahlensatz: 
 
ER     SR   
--- = ---- | *AM 
AM    MS  
 
         SR * AM      4,5 cm * 4 cm  
ER = ----------- = ----------------- = 3 cm 
            MS                 6 cm 
 
            0,5 * FG * ER * RS      0,5 * 6 * 3 * 4,5 
VEFGS = ----------------------- = -------------------- cm³ = 13,5 cm³ 
                         3                              3 
 
Verhältnisgleichung: 
 
32 cm³ : 100% = 13,5 cm³ : x% 
 
13,5 * 100 = 32 * x | :32 
 
       13,5 * 100  
x = -------------- = 42,19% 

             32 
 
2.4 

 
Sinussatz im Dreieck RP1S: 
 
β = 90° - α = 90° - 36,87° = 53,13° 
 
 RP1       RS 
----- = ------- | * sin β 
sin β    sin φ    
 



           RS * sin β       4,5 cm * sin 53,13°   
RP1 = ------------- = ------------------------ = 3,66 cm 
              sin φ                    sin 100° 
 
γ = 180° - φ - β = 180° - 100° - 53,13° = 26,87° 
 
AP1SR = 0,5 * RS * RP1 * sin γ = 0,5 * 4,5 cm * 3,66 cm * sin 26,87°  
 
AP1SR = 3,72 cm² 

 
2.5 

 
Strahlensatz: 
 
EP2      CP2 
---- = ----- | * CS 
MS       CS    
 
          CS * EP2       10 cm * 3 cm 
CP2 = ------------ = ----------------- = 5 cm 
              MS                  6 cm   
 
Sinussatz im Dreieck RP1S: 
 
δ = 180° - (β + φ) = 180° - (53,13° + φ) 
 
sin δ = sin (180° - (β + φ) = sin (β + φ) 
 
P1S        RS   
------ = ------ 
sin δ      sin φ   
 
Über Kreuz multipliziert: 
 
P1S * sin φ = RS * sin δ  
 
5 * sin φ = 4,5 * sin (53,13° + φ) | :5 
 
sin φ = 0,9 * (sin 53,13° * cos φ + cos 53,13° * sin φ) 
 
sin φ = 0,72 * cos φ + 0,54 * sin φ | :cos φ 
 
tan φ = 0,72 + 0,54 * tan φ | -0,54 * tan φ 
 
0,46 * tan φ = 0,72 | :0,46 
 
tan φ = 1,5652 --> φ = 57,43° 

 


